
علوى مؤسسه

 ))Listening and Speakingتا ابتداي  Reading(از  2(درس  2زبان انگلیسی 
Part A: Grammar and Vocabulary 

1- How many suffixes are there in this sentence? 
“An effective way to enjoy  your life is having healthy relationship with others” 
1) three 2) five 3) one 4) six

2- I saw my grandmother for a few years. She ..................... when I was eight. 
1) dead 2) has dead 3) died 4) has died

3- This bill isn’t right. You ..................... a mistake. 
1) make 2) have made 3) had made 4) have make

4- We have been in this hotel .................... yesterday. 
1) for 2) already 3) yet 4) since

5- I ..................... the dishes (the dishes are clean now) 
1) washed 2) washing 3) have washed 4) had washed

6- I joined the club to  improve my ..................... health. 
1) social 2) general 3) emotional 4) unimportant

7- Use a ruler to ..................... a piece of paper. 
1) pressure 2) measure 3) contain 4) improve

8- Sara hasn’t done her homework .................... 
1) already 2) for 3) since 4) yet

9- We bought a used boat in excellent ..................... . 
1) mission 2) condition 3) hobby 4) avoid

10- Focusing on work is a great excuse for not ..................... of yourself. 
1) measuring 2) gaining 3) taking care 4) preparing

11- New .................... inventions have saved many people’s lives. 
1) medicines 2) medical 3) medicinally 4) medicine

12- The golden rule of first aid is to stay..................... . 
1) calm 2) harmful 3) quiet 4) lazy

Part B:Cloze test 
It is generally accepted that women still live ...(73)... longer than men. Various reasons have been ...(74)… for 
this situation, such as the possibility men may die earlier because they take more risks. But a team of British 
scientists have recently found a likely answer in the immune system which protects the body from diseases. The 
thymus is the organ which produces the T cells which actually fight against ...(75)... Although both sexes suffer 
from the problem of the thymus becoming weak as they age, women appear to have more T cells in comparison 
to men of the same age. The scientists believe, it is this, that gives women better ...(76)... from potentially deadly 
diseases such as influenza and pneumonia. 

13- 1) signify 2) significantly 3) sign 4) significant

14- 1) suggest 2) suggestis 3) suggestion 4) suggested

15- 1) happiness 2) illnesses 3) sadness 4) sick 

16- 1) protective 2) protect 3) protection 4) protectively

Part C: Reading Comprehension. 
No one knows who invented pencils or when it happened. A Swiss described a pencil in a book in 1565. He said it 
was a piece of wood with lead inside it (lead is a very heavy, soft, dark gray metal). Pencils weren’t popular and 
people continued to write with pens. They used bird feathers as pen. Then in 1795, a person started making 
pencils from graphite. Graphite is something like coal (coal is black and we burn it for heat and energy). Today 
people make pencils in the same way. They grind the graphite, make it into the shape of a stick and bake it. 
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Then they put it inside a piece of wood. One pencil can write 50000 English words or make a line 55 kilometers 
long. People wrote with feather pens and then used metal paints. They had to dip the paint into ink after every 
few letters. Next, someone invented a fountain pen that could hold ink inside it. A fountain pen can write several 
pages before you have to fill it again. 

17- The pronoun “He” in the first line refers to ....................  
1) pencils 2) a Swiss 3) no one 4) feather

18- The first pencils had ..................... in them. 
1) gold 2) graphite 3) lead 4) ink

19- What kind of pen was useful to write many pages with? 
1) coal 2) lead 3) feather 4) fountain

20- According to the passage, which sentence is wrong? 
1) We can write only 55 English word with a pencil.
2) We don’t know who made pencil first.
3) A fountain pen can hold ink in it.
4) A pencil was described as a piece of wood with lead inside it.


